THAFEE(SHSF4A1HE AR BBRTHFREFTEASHER

" it B8
B % i B o8 (EE) RN xx BREH
OJLiEt X
RIS FEFR 1 1 254,100 | 4 [ILIEVOILRERSE (BK)
1 2 2,131,470 | 4 |FAF—F1J>a(¥)
2 1 1,582,020 | 6 |FAR—KU>a(¥)
3 1 1,254,000 | 6 |{EMHra—RL—ar ()
4 1 1,265000 | 6 |[{EMH>a—RL—3> (¥)
RITHIES 5 1 1,106,719 [ 5 [(#%)7A—L>
6 2 440000 | 1 |[H2R)—ENLyTYYa—3> (#)
7 1 52,800 | 2 |dLAEVUILRERSE (BR)
8 4 3213430 | 6 |#FAF—F1J>a(%k)
BIREEREISAT 1 1 68,000 | 2 |(%)FERE
o . 1 1 572,000 | 6 |HUrJ—ENLyTYYa—ar (k)
ARREEFE 2 1 495,000 | 6 [{EMYa—KRKL— 3> (%)
TN 1 1 396,000 | 6 [|EMHra—RL—ar ()
AREFER 2 1 395000 | 6 |(BMR)RNRKILYIR
EHESFFR 1 2 399,300 | 2 [FHFAKEREFPFRMHR)
1 1 - 0 |IEEELL
N 2 1 265980 | 6 [#FAK—FUra(fk)
EHERITS 3 1 - o |REREAL
4 1 - 0 |IG&EELL
RESTHEFFK 1 1 240,020 | 4 [(FAF—Kya#k)
TEREMRE L 2—#EHR T ER Y 1 2 159,940 [ 2 |FAF—F1J>a(¥)
R XLtz 2— 1 1 54546 | 2 |MIFEE
ORIEHK
tHERTE 1 2 393472 4 |((B)7A—LY
1 1 348071 | 3 |(k)7ZR—L>
EARRTE 2 1 336,966 | 2 |HIR)—E/NLyPVUYa—3> ($%)
BYMEEL S 1 1 - 0 |IEEELL
1 1 - 0 |IEE&ELL
2 1 140,000 | 3 |(¥) FEE
RERIKESE 3 1 77,999 | 2 |(){FEE
4 1 - 1 |F%
5 1 - 1 | %
1 1 256,187 3 |[(#k)7B—L>
2 1 - 0 |IG&EELL
, s 3 1 - 0 [BHEALGL
BE AR 2 1 - 0 ImEELL
5 1 - 0 |IEEELL
6 1 - 1 |F5&
AFEFESFER 1 2 336,600 | 2 [HUR)—ENLYPYJa—Tar ()




I

= Wi | BT BHHE
OHf{EHRX
1 1 151,800 | 2 [{EMHYra—FRKL—iar (%)
AEFEE
RETERTE 2 1 - 0 [IEEEHELL
EREFESEFFKR 1 1 - 0 |EELHL
1 1 104500 | 1 [FA4F—KFJ>a(kk)
2 1 52,000 | 1 |(¥%){FER
N AN == —_
ey %&ﬁt/g 3 1 _ 0 m%%ﬁb
4 1 - 0 |EELL
1 1 192,390 [ 4 [FEEVVILRERSE (%)
2 1 192500 | 5 [{EMHYra—FRKL—iar (%)
JAN 2 X = [0 o
WARETIHES T 3 1 133,100 | 4 |#4F—FU>a(k)
4 1 64,772 5 |()z7o—L>
1 2 216,700 | 4 |FAF—FY>a(¥k)
WAERITE 2 3 220000 | 1 [HUR)—ENLyPY)a—ay (#)
3 1 562,100 | 7 |#AKF—F)>a(#)
REHTFE 1 1 - 0 |IEEELL
OmEHX
1 1 375947 | 4 |FEIEVYILRERSE (BK)
= 2h 4t
FAILESFFH 2 1 276,999 | 5 |(BE)RRILWHR
1 1 493900 | 4 [FAR—FY>a®k)
ERITE —
FHERET 2 1 120000 | 2 |GR)FEE
1 1 399,960 | 3 |dtEEaAH-a—SKREYLY (#)
2 1 204,490 | 2 |FA{EVYILRERSE (Bk)
FBRIMETr EEHEFERK 3 1 12375 | 1 |[EEVZILRIRSE (%)
4 1 - 0 |IEELL
5 1 56,100 | 1 |&#EFLE (B)
1 1 - 0 |EELHL
WEFERITSE 2 1 90,000 | 2 |(BR){FEEE
3 1 376,200 | 4 |FAF—FY>a(¥k)
1 1 354200 6 |HUR)—ENLyIYYa—32 (k)
SREsEEE = =4 4o
WEhEEEEER ) 1 262000 | 6 |G a9 —£x
1 1 330000 5 |(#)TUIH—EXR
S — TEET AT aa
Weh = R\F PR 2 | 1 205654 | 4 |E{EVHILRERES (B)
1 2 293150 | 5 |HIR)—ENLyPUYa—3> (%)
2 2 194700 | 4 |&¥EZLZE (%)
M /\
REEHLE 3 2 154,600 | 3 |dtfEaAh-a—SHKRR) D (#k)
4 2 14000 | 2 |3—7BMS




